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) .She ( asked him who ) the man in the 5
pictures was.
(@) They kept talking until Tomoki ( got off ) .
No. 7 the bus.
Because she felt the word “Konnichiwa”
(3) | created a ( friendship between ) Tomoki| 3
and David.
1 .’I.‘oday, I [ want y(.>u t.o choose Wh‘iCh pl?ce to 1
visit ] as a check point in a group discussion.
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i 5 S<.)me.times ( I imagine what umbrellas will .
be like in ) the future.
(1) (f1) using them 3
16 |(2) (1) different ideas 3
(3) (Bl) give us 3
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I want to live near mountains. I can feel the (GE) i oS
changing seasons, and there is clean air and DIETIZE D,
4 water in a quiet environment. In summer, I 10 4 0GBl 72 %
can enjoy swimming in the river, and in winter, WHES, REOD
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I can enjoy skiing. I want to relax in nature
and eat fresh fruits. (4 9 Z&
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